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CBSE – DEPARTMENT OF SKILL EDUCATION 

lh ch ,l bZ dkS'ky f'k{kk foHkkx 

TYPOGRAPHY AND COMPUTER APPLICATION (SUBJECT CODE 817)  
VkbiksxzkQh vkSj daI;wVj vuqiz;ksx ¼fo"k; dksM 817½ 

Sample Question Paper with Marking Scheme 

uewuk iz'ui= ,oa ekfdZax Ldhe  

Class XII (Session 2019–2020) 

ckjgoha d{kk ¼l= 2019&2020½ 

Time: 3 Hours  Max. Marks: 60 

le;% 3 ?kaVs vf/kdre vad&60 

 

General Instructions:  

lkekU;  funsZ'k  

This Question Paper consists of two parts viz. Part A: Employability Skills and Part B: Subject 

Skills.  

bl iz'ui= esa nks Hkkx gksrs gSaA  Hkkx d % jkstxkj dkS'ky vkSj Hkkx [k % fo"k; dkS'kyA 

Part A: Employability Skills (10 Marks)  

Hkkx d%  jkstxkj dkS'ky  ¼10 vad ½ 

i. Answer any 4 questions out of the given 6 questions of 1 mark each. 

fn;s x;s 6 iz'uksa esa ls fdlh Hkh 4 iz'uksa ds mÙkj nsaA izR;sd iz'u 1 vad dk gSA  

ii. Answer any 3 questions out of the given 5 questions of 2 marks each. 

fn;s x;s 5 iz'uksa esa fdlh Hkh 3 iz'uksa ds mÙkj nsaA  izR;sd iz'u  2 vad dk gSA  

Part B: Subject Skills (50 Marks):  

Hkkx [k % fo"k; dkS”ky ¼50 vad½ 

iii. Answer any 10 questions out of the given 12 questions of 1 mark each. 

fn;s x;s 12 iz'uksa esa fdlh Hkh 10 iz'uksa ds mÙkj nsaA  izR;sd iz'u 1 vad dk gSA 

iv. Answer any 5 questions from the given 7 questions of 2 marks each. 

fn;s x;s 7 iz'uksa esa fdlh Hkh 5 iz'uksa ds mÙkj nsaA  izR;sd iz'u  2 vad dk gSA 

v. Answer any 5 questions from the given 7 questions of 3 marks each. 

fn;s x;s 7 iz'uksa esa fdlh Hkh 5 iz'uksa ds mÙkj nsaA  izR;sd iz'u  3 vad dk gSA 

Vi   Answer any 3 questions from the given 5 questions of 5 marks each. 

fn;s x;s 5 iz'uksa esa fdlh Hkh 3 iz'uksa ds mÙkj nsaA  izR;sd iz'u  5 vad dk gSA 

2. This question paper contains 42 questions out of which 30 questions are to be answered. 

bl iz'ui= esa 42 iz'u gksrs gSa] ftlesa ls 30 iz'uksa ds mÙkj nsus gksrs gSaA 

3. All questions of a particular part/section must be attempted in the correct order. 

fdlh fo'ks"k Hkkx@vuqHkkx ds lHkh iz'uksa dk lgh Øe esa mÙkj fn;k tkuk pkfg,A   

4. The maximum time allowed is 3 hrs. 

vf/kdre le; 3 ?kaVs gSA 
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PART A: EMPLOYABILITY SKILLS (10 MARKS) 

Hkkx d jkstxkj dkS'ky (10 Marks) 
 

Answer any 4 questions out of the given 6 questions of 1 mark each: 

fn;s x;s 6 iz'uksa esa ls fdlh Hkh 4 iz'uksa ds mÙkj nsaA izR;sd iz'u 1 vad dk gSaA 
 

1.  “This house is too expensive, and that house is too small.” Is an example of 
____________ sentence. 
^^;g ?kj cgqr egaxk gS vkSj og ?kj cgqr NksVk gS** &&&&&&&okD; dk ,d mnkgj.k gSA 

Answer – Compound 
mÙkj& ;kSfxd 

 

(1) 

2.  Books are the _______________. 
iqLrdsa &&&&&&&&gSaA          

Answer – best friend 
mÙkj& lcls vPNh nksLr  

 

(1) 

3.  Concatenation of text can be done using 

a) Exclamation (!) 

b) Hash (#) 

c) Ampersand(&) 

d) Apostrophe 
ikB dk la?kVu dk mi;ksx djds fd;k tk ldrk gSA   
 

d foLe;kfncks/kd  ¼!½  

[k gS'k ¼ #½  

x ,aijlSaM ¼ &) 
?k m)j.k fpg ¼^½ 

Answer – c) Ampersand (&) 

mÙkj&x ,aijlSaM ¼ &) 

 

(1) 

4.  ____________helps an entrepreneur to understand a situation or problem by 
asking oneself questions (why, what, when, how) and researching about reasons 
for the situation or a problem. 
 &&&&&&&fdlh O;fDr dks fdlh ifjfLFkfr ;k leL;k dks le>us ds fy, ,d mn~;eh ls 

iwNrs gSa ¼D;ksa] D;k] dc] dSls½ vkSj fLFkfr ;k leL;k ds dkj.kksa ds ckjs esa 'kks/k djukA 
Answer - Critical thinking   
mÙkj &xaHkhj lksp 

 
 

(1) 

5.  Engaging in positive and skill enhancing activities keeps our spirits ___________. 
ldkjkRed vkSj dkS'ky c<+kus okyh xfrfof/k;ksa esa layXu jguk gekjh  vkRekvksa dks 

&&&&&j[krk gSA 
Answer – High 

mÙkj & mPp 

 

(1) 

6.  Which of the following green job is relevant to water conservation? 
a. Building planner 
b. Water policy analyst  
c. Insulator 

 

(1) 
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fuEufyf[kr  esa ls dkSsu lh gjh ukSdjh ty laj{k.k ds fy, izklafxd gS\ 

    d Hkou fu;kstu 

    [k ty uhfr fo'ys"kd 

    x folaokgd  

Answer - Water policy analyst 
mÙkj & ty uhfr fo'ys"kd  

 
 

Answer any 3 questions out of the given 5 questions of 2 marks each: 

fn;s x;s 5 iz'uksa esa fdlh Hkh 3 iz'uksa ds mÙkj nsaA izR;sd iz”u 2 vad dk gSsaA  
 

7.  Differentiate between Declarative and Imperative Sentences. Give example of each. 

?kks"k.kkRed okD; vkSj vkKklwpd okD; esa varj djsaA izR;sd dk mngkj.k nsaA 

Answer- A declarative sentence is the most basic type of sentence. Its purpose is to 
relay information, and it is punctuated with a period. For example:  I walked home. 
Imperative sentences do not simply state a fact but rather tell someone to do something. 
These can be in the form of friendly advice, basic instructions or more forceful commands.  
For example:  Turn left at the bridge. 

mÙkj& ,d ?kks"k.kkRed okD; lcls cqfu;knh izdkj dk okD; gSA bldk mís'; tkudkjh dks fjys 

djuk gSA vkSj bls ,d vof/k ds lkFk fojkfer fd;k tkrk gSA mnkgj.k ds fy, eSa ?kj pyk 

x;kA 

vkKklwpd okD; dsoy ,d rF; ugha crkrs gSa] cfYd fdlh dks dqN djus ds fy, dgrs gSaa ;s 

eS=hiw.kZ lykg] cqfu;knh funsZ'k ;k vf/kdka'k  'kfDr'kkyh vkns'kksa ds :i esa gks ldrs gSaA mngj.k 

ds fy,] iqy ij ck, eqM+sA  

 

(2) 

8.  What do you understand by personality? 

O;fDrRo ls vki D;k le>rs gSa\           

Answer – Personality is relatively enduring set of traits. These traits are made up of 
emotional, behavioural and mental set of characteristics. 

mÙkj& O;fDrRo vis{kkd̀r xq.k dk LFkk;h leqPp; gSA ;s y{.k HkkoukRed O;ogkj vkSj 

fo'ks"krkvksa ds ekufld lsV ls cus gksrs gaSaA 

 

(2) 

9.  Write down the two ways to insert images in power point slides. 

ikoj ikWbaV LykbMl esa fp= lfEefyr djus ds nks rjhds fy[ksA 

Answer - 

a) From Gallery 

b) From File 

mÙkj & d- xSyjh ls  

       [k- Qkby ls 

 

(2) 

10.  Why it is important for an entrepreneur to have right attitude towards his business?  

,d mn~;eh ds fy, vius O;olk; ds izfr lgh joS;k j[kuk D;ksa egRoiw.kZ gS\ 

Answer - The meaning of attitude is one‟s tendency to respond in a certain way towards a 
certain idea, object, person, or situation. An entrepreneur‟s attitude affects their choice of 
action while running the business.  

mÙkj & ǹf"Vdks.k dk vFkZ ,d fuf'pr fopkj oLrq] O;fDr ;k fLFkfr ds izfr fuf'pr rjhds  ls 

izfrfØ;k djus dh izo`fÙk gSA O;olk; pykrs le; ,d mn~;eh dk joS;k mudh dkjZokbZ dks 

izHkkfor djrk gSA 

 

 

(2) 
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11.  Why recycling and reuse sectors are creating at least 9 times more jobs than landfills and 
incinerators?  

iqufuek.kZ vkSj iqu% mi;ksx {ks=ksa esa xM~<ksa dh HkjkbZ vkSj HkLed dh rqyuk esa de ls de 9 xquk 

vf/kd ukSdfj;ka iSnk gks jgh gSa\   

Answer- Because force is needed for collecting, processing and preparing material in 
order to create zero waste. 

mÙkj & D;ksafd 'kwU; vif'k"V cukus ds fy, lkexzh ,d= djus] izlaLdj.k djus vkSj rS;kj djus 

ds fy, cy dh vko';drk gksrh gSA 

 

(2) 

 

 

PART B: SUBJECT SKILLS (50 MARKS) 

Hkkx [k % fo"k; dkS'ky % 50 vad 
 

Answer any 10 questions out of the given 12 questions: 

fn;s x;s 12 iz'uksa esa ls fdlh Hkh 10 iz'uksa dk mÙkj nsaA  
 

12.  There are …… common styles of Business Letters. 

O;kolkf;d i= dh -------lkekU; 'kSfy;ka gSa 

Ans. Three 

mÙkj & rhu 

(1) 

13.  # sign is used in manuscript for …… 

# lkbu dk mi;ksx ikMqfyfi esa ---------- ds fy, fd;k tkrk gSA 

Ans. Inserting the space 

mÙkj & Lisl nsus ds fy, 

 

(1) 

14.  The intersection of a row and columns is called as ……….. 

,d iafDr vkSj LraHkksa ds izfrPNsnu dks ------dgk tkrk gSA 

Ans. Cell 

mÙkj & lsy 

(1) 

15.  There are ….. types of e-commerce. 

bZ&dkWelZ ds ------izdkj  gSa\   

Ans. Four 

mÙkj & pkj 

(1) 

16.  There are …. Views in Power Point Presentation. 

Ikkoj ikWbUV  izstsaVs'ku  esa fdrus n`'; gSa\ 

Ans. Four 

mÙkj & pkj 

(1) 

17.  BCC is used to send…….. of message to a person. 

BCC dk mi;ksx fdlh O;fDr dks ------ lans'k Hkstus ds fy, fd;k tkrk gSA    

Ans. Blind Carbon Copy 

mÙkj & CykbaM dkcZu dkih 

(1) 

18.  ……….virus exists in Hard Drives. 

---------esa ok;jl gkMZ MªkZbo esa ekStwnk jgrk gSA   

Ans. Boot Sector  

mÙkj & vkjafHkd {ks= 

(1) 

19.  Name the words to be used in typewriting for complimentary close in a  D.O. Letter. 

v/kZljdkjh i=ksa esa /;kukFkZ  Vkbi djus ds fy, mi;ksx fd, tkus okys 'kCnksa dks uke nsaA 

Ans. Your Sincerely „or‟ Sincerely yours 

mÙkj & vkidk vkKkdkjh ;k vkKkdkjh vkidk 

(1) 

20.  How many orientations are there in an Excel Sheet? 

,Dlsy 'khV esa fdrus vksfj,Vsa'ku gSa \ 

Ans.  Two  

mÙkj & nks 

(1) 
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21.  Define Manuscript. 

ikaMqfyfi  dks ifjHkkf"kr djsa\ 

Ans.  Manuscripts are rough scripts--hand-written or printed, having corrections--
additions, deletions, alternations and modifications etc.  

mÙkj & ikaMqfyfi;ka [kqjnjh fyfi;ka gSaA gkFk ls fy[kh  ;k Nih gqbZ] lq/kkjokyh tksM] okyh] 

foyksiu] izR;korZu vkSj la'kks/ku vkfn 

(1) 

22.  Define slide show. 

LykbM 'kks dks ifjHkkf"kr djsaaA 

Ans. It is considered to be one of the easiest, most useful and accessible method to 
create and present the Visual Aids. 

mÙkj & bls fotqyvy ,Ml cukus vkSj is'k djus ds fy, lcls vklku] mi;ksxh  vkSj lqyHk 

fof/k  esa ls ,d ekuk tkrk gSA  

(1) 

23.  Which operator is used to expand the search? 

[kkst dk foLrkj djus ds fy, fdl vkWijsVj dk mi;ksx fd;k tkrk gS\ 

Ans. “OR” operator is used to expand the search. 

mÙkj & vkWijsVj dk mi;ksx [kkst dk foLrkj djus ds fy, fd;k tkrk gSA 

(1) 

 

Answer any 5 questions out of the given 7 questions of 2 marks each: 

fn;s x;s 7 esa ls fdlh Hkh 5 iz'uksa ds mÙkj nhft,% izR;sd iz”u 2 vad dk gSA 
 

24.  Write any four types of official correspondence. 

fdlh Hkh izdkj ds vkf/kdkfjd i=kpkj dks fy[ksaA 

 
Ans. Any four types of official correspondence:  
 

(i).   Official letters 
(ii).  Demi-official letters (D.O. letters) 
(iii)  Office Memorandum(Memo)  
(iv)   Office Order 
(v)    Unofficial Note(U.O.Note) 
(vi)   Circular letters 
(vii)  Endorsements 
(viii) Notifications 
(ix)   Resolutions 
(x)   Press Communiqué (Press Release) 

mÙkj & fdlh Hkh izdkj ds vkf/kdkfjd i=kpkj fuEu gS 

d- vkf/kdkfjd  i=@ljdkjh i= 

[k- Mseh vkf/kdkfjd i=@Mh vks i=@v/kZ ljdkjh i= 

x- dk;kZy; Kkiu(eseks) 

?k- dk;kZy; vkns'k 

M- vukSipkfjd uksV  

p- ifji= 

N- foKkiu 

t- lwpuk,a 

>-  ladYi  

.k-  izsl foKfIr ¼izsl fjyht½ 

 

(2) 

25.  What do the following manuscript signs mean?       
i)  //            ii) eq#            iii)  / ^/       iv)  

fuEufyf[kr  ikaMqfyfi ladsrksa dk D;k eryc gS\  

(i) // (ii)eq (iii) / ^ / (iv)  
 

Ans. (i) New Paragraph (ii) Equalize spacing (iii) Insert the matter in the margin  
         (iv) Justify the matter (Right Side)  

(2) 
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 mÙkj & 1- u;k vuqPNsn  2- Lisl cjkcj djuk 3- ekeys dks ekftZu esa Mkysa 

4- fo"k; lkexzh dks nk,a gkFk ls O;ofLFkr djuk ¼jkbVlkbM½ 

       

26.  What is the difference between excel workbook & worksheet? 
 
Ans. An Excel workbook is a file that contains one or more worksheets. 
        Data is entered into the worksheet which appears initially and each worksheet has a     

 name and its sheet tab at the bottom left of  the workbook i.e. sheet1, sheet 2, sheet 
3 etc.  

mÙkj &,Dlsy odZ cqd ,d Qkby gS ftlesa ,d ;k ,d ls vf/kd odZ”khV gksrh gSa MsVk 

dks dk;Z i=d esa ntZ fd;k x;k gS tks “kq: esa fn[kkbZ nsrk gS vkSj izR;sd dk;Z i=d esa 

gSA dk;Z iqfLrdk ds uhps ckbZa vksj uke vkSj mldk “khV VSc ;kuh “khV 1] “khV 2] “khV 3 

vkfnA 

 

(2) 

27.  Enlist any four types of charts in Ms-Excel. 

,e ,l ,Dly esa fdlh Hkh pkj izdkj ds pkVZ dks lwphc) djsaA 

Ans. Any four out of the following 
(1)  Column Charts  
(2)  Bar Charts 
(3)  Area Charts 
(4)  Line Charts 
(5)  Pie Charts 

mÙkj &fuEufyf[kr esa dksbZ Hkh pkj 

¼1½ dkWye pkVZ 

¼2½ ckj pkVZ 

¼3½ ,fj;k pkVZ 

¼4½ ykbu pkVZ 

¼5½ ikbZ pkVZ 

 

(2) 

28.  Write the steps involved to save the presentation. 

izLrqfr dks cukus ds fy, 'kkfey fd, x, pj.kksa dks fyf[k,A 

Ans. Steps  involved to save the presentation are: 
(i)  Click „Save As‟ on office button; 
(ii)  Choose the folder where the file to be saved; 
(iii) Type the file name and then click save button 

mÙkj & izLrqfr dks cukus ds fy, blesa 'kkfey pj.k gSa% 

¼1½ dk;kZy; cVu ij ^bl :i esa lgstsa* ij fDyd djsa 

¼2½ og QksYMj pqus tgk¡ Qkby dks cuk;k tkuk gS   

¼3½ Qkby dk uke Vkbi djsa vkSj fQj ls cVu ij fDyd djsa 

 

(2) 

29.  Explain the basic categories of search engine. 

[kkst batu dh ewy Jsf.k;ksa dh O;k[;k djsaA  

Ans. There are three basic categories of search engine: 
(i)  Primary Search Engine-Google and Altavista 
(ii) Web directory-Yahoo 
(iii)  Meta Search Engines- Dogpile, Infind, Metacrawler, Metafind and Meta Search  

mÙkj &[kkst batu dh rhu cqfu;knh Jsf.k;k¡ gSa 

 ¼1½ izkFkfed [kkst batu&xwxy vkSj vYVfoLVk 

 ¼2½ osc funsZf'kdk&;kgw 

 ¼3½ esVk lpZ batu& MkWxikby] bUQkbaM] esVkdzkWyj] esVkQkbaM vkSj esVklpZ  
 

(2) 
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30.  Define e-mail. 

bZ&esy dks ifjHkkf"kr djsaA 

Ans. It is an electronic exchange of messages. It does not require physical components 
like pen, paper for compiling information or manpower for movement of messages. The 
recipient does not even have to be available when e-mail is sent. It is stored in the mail 
server and can be downloaded at a convenient time.    

mÙkj &;g lans'kksa dk bysDVªkWfud vknku&iznku gSA bl esa lans'kksa dh vkoktkgh ds fy, lwpuk 

;k tu'kfDr ds ladyu ds fy, dye] dkxt tSls HkkSfrd /kVdksa dh vko';drk ugha gksrh gSA 

bZ&esy Hkstus tkus ij izkIrdÙkkZ dks miyC/k gksus dh vko';drk ugha gSA bls esy loZj esa 

laxzghr fd;k tkrk gS vkSj bls lqfo/kk tud le; ij MkmuyksM fd;k tk ldrk gSA 

 

(2) 

   

Answer any 5 questions out of the given 7 questions of 3 marks each: 

fn, x;s 7 esa ls fdlh Hkh 5 iz'u dk mÙkj nhft, A izR;sd iz'u 3 vadksa dk gSA 

 

31.  Differentiate between Indented & Fully-Blocked styles of letters. 

v{kjksa dh baMsaVsM vkSj Qqyh&CykWd 'kSyh ds chp varj crkb,A 

 
Ans. 

S.N 

Ø- 

l- 

Indented 

baMsaVsM 

Fully-Blocked 

iwjh rjg ls vojksf/kr¼Qqyh CykWd½ 

 

1 It is an old style of typewriting the letter 

;g i= fy[kus dh iqjkuh “kSyh gSA 

It is a new style and also called 
American style of typewriting the 
letter. 

;g ,d ubZ 'kSyh gS vkSj i= dks Vkbi 

djus dh vesfjdh dh 'kSyh Hkh dgk tkrk 

gSA      

2 Indented means, the beginning of first 
time of each paragraph by indenting the 
left side of the margin. 

baMsaV dk eryc gS] ekftZu ds ckbZa vksj 

baMsaV djds izR;sd iSjkxzkQ dh 'kq:vkr 

djukA            

Every line is aligned flush with the left 
margin, No paragraphs are indented 
and they are separated  by leaving 
two lines blank between the two 
paragraphs 

gj ykbu dks ck,a ekftZu ds lkFk 'kq: 

fd;k tkrk gS vkSj nks iSjkxzkQ ds chp nks 

ykbuksa dks [kkyh NksM+dj mUgsa vyx 

fd;k tkrk gSA     

3 Margin may be 5 or 7 spaces of typing 
the remaining lines of each paragraph 
from the left margin 

ekftZu izR;sd iSjk dh 'ks"k iafDr;ksa dks ck,a 

ekftZu ls Vkbi djus ls igys 5 ;k 7 

LFkku NksM-s tkrs gSa A 

 

Every line starts at the left side of 
margin 

gj ykbu ekftZu ds ckbZa vksj 'kq: gksrh 

gSA 

   
 

(3) 

32.  Write the manuscripts signs of the following:  
i) Trans  ii) Insert space  iii) insert Exclamation   iv) delete  v) Centralize the matter    vi) 
lower case characters  

fuEufyf[kr ds ikaMqfyfi;ksa ds ladsr fy[ksaA 

1½ Vªkal] 2½ Lisl Mkysa] 3½ ,DlDyses'ku 4½ gVk,a] 5½ fo"k; lkexzh dks daasnzhr djsa] 6½ yksvj dsl 

dSjsDVj 

 
 

(3) 
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Ans.  
(i)     
(ii)   # 
(iii)  /! 
(iv)  d or D 
(v)  Ctr. 
(vi)  l.c/s.c. 

mÙkj &   

2     # 
3 @! 

4 D ;k Del 
5 lhVhvkj 

6 I.c@s.cA 
 

33.  What is the difference between formula and function in MS-Excel? 

MS-Excel eSa lw= vkSj QaD'ku ds chp varj D;k gS\ 

Ans. 
 Formulae: are entries containing an equation that calculates the value to be displayed.  
Formulae are used in (i)  simple addition, subtraction, multiplication and division; and (ii) 
complex formula involving a combination of arithmetic operators for example to add the 
values of cell D1 through D5 --  type the formula”=D1+D2+D3+ D4+D5” . 
Functions: The built-in formulae are called functions. The users have to provide the cell, 
references or address only. These are called arguments of the functions that are given 
between a pace of parentheses (). For example, to add the values of cells D1 through D5 
through function is: “=Sum(D1:D5) 

   mÙkj &  lw= % os izfof"V;ka ftuesa ,d lehdj.k gksrk gS tks iznf'kZr gksus okys eku dh x.kuk 

djrk gSA lw=ksa dk mi;ksx 

(i) ljy tksM+] ?kVko] xq.kk vkSj Hkkx esa fd;k tkrk gS vkSj (ii) mnkgj.k ds fy, vadxf.krh; 

vkWijsVjksa ds la;kstu dks 'kkfey djus okyk tfVy lw= D5 ds ek/;e lsSy D1 ds eku lw= 

Vkbi djsa “=D1 +D2 +D3+ D4+ D5” A 
dk;Z % varfuZfgr lw= dk;Z dgykrs gSaA mi;ksxdrkZvksa dks dsoy lsy] lanHkZ ;k irk iznku djuk 

gSA bUgsa mu dk;ksZa dk rdZ dgk tkrk gS tks dks"Bdksa dh xfr ds chp fn, x, gSaA mnkgj.k ds 

fy,] QaD'ku ds ek/;e ls Mh 5 ds ek/;e ls dksf'kdkvksa Mh 1 dks tksM+uk gS%+ =Sum (D1%D5)  
 

(3) 

34.  Write down the steps to create a slide transition. 

LykbM laØe.k cukus ds fy, pj.kksa dks fy[ksaA 

Ans. 
1. Select Animation tab -> Transition to this side. 
2. Select the transition from the list 
3. Click on transition sound button to apply sound effect 
4. Click on transition speed button to adjust the speed 
5. Click on Apply to All the transition to all the slides. 

mÙkj &1 ,uhes'ku VSc pqusa&> bl rjQ laØe.kA 

2 lwph ls laØe.k dk p;u djsa 

3 /ofu izHkko ykxw djus ds fy, laØe.k /ofu cVu ij fDyd djsa 

4 xfr lek;ksftr djus ds fy, laØe.k xfr cVu ij fDyd djsa  

5 lHkh LykbM~l ij vIykbZ Vw vkWy Vªkaft'ku ij fDyd djsaA 

 

(3) 

mailto:I.c@s.cA
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35.   
Define e-business. 

bZ&O;kikj dks ifjHkkf"kr djsaA 

Ans. E-business refers to all aspects of a business where technology is important. This 
may include knowledge management, design and manufacturing, R&D, Procurement, 
finance, project planning, human resource planning and the related activities. E-
commerce is a part of e-business.      

mÙkj& bZ&O;olk; ,d O;olk; ds lHkh igywvksa dks lanfHkZr djrk gS tgk¡ izkS|ksfxdh dk 

egÙoiw.kZ LFkku gSA blesa Kku izca/ku] fMtkbu vkSj fofuekZ.k] vuqla/kku vkSj fodkl] [kjhn] foÙk] 

ifj;kstuk] ekuo lalk/ku ;kstuk vkSj lacaf/kr xfrfof/k;ka 'kkfey gks ldrh gSaA bZ&dkWelZ bZ& 

fctust dk ,d fgLlk gSaA 

 

(3) 

36.   
What are the steps for sending an e-mail? 

bZ&esy Hkstus ds fy, D;k dne gSa\ 

Ans.  

 Click the compose button on the left side of the Gmail page. 

 Fill the intending username in the “To” text box. “Cc” button allows you to add 
users whose response are welcomed but not required. “Bcc” option allows you to 
hide recipient addresses from one another.  

 Summarize the purpose of the mail in the “subject” text box. 

 Enter the content of the mail in the large field below the subject line text box. 

 Use “send” button at the button left of the Compose Mail Screen to send the mail 
to the recipient. 

- mÙkj& -thesy ist ds ckbZa vksj dEikst cVu ij fDyd djsaA  

 ^^ckDl esa** ikB ckWDl esa bPNqd mi;ksxdrkZ uke HkjsaA “cc” cVu vkidks mu 

mi;ksxdrkZvksa dks tksM+us dh vuqefr nsrk gS ftudh izfrfØ;k dk Lokxr fd;k 

x;k gS ysfdu vko';d ugha gSA ^^Bcc** fodYi vkidks izkIrdrkZ ds irs ,d 

nwljs ls fNikus dh vuqefr nsrk gSA 

 “fo"k;” VsDLV ckDl esa esy ds mn~ns'; dks la{ksi esa fy[ksaA 

 fo"k; iafDr ikB ckWDl ds uhps cM+s {ks= esa esy dh lkexzh ntZ djsaA 

 izkIrdÙkkZ dks esy Hkstus ds fy, daikst+ esy LØhu ds ck;ha  vksj fn, x, ^^Hksts** 

cVu dk mi;ksx djsaA 

 

(3) 

37.   
What do you understand by Trojan Horse? 

Vªkstu gkWlZ ls vki D;k le>rs gSa\ 
 

Ans. It is a hidden malicious code that could alter or delete the information of client 
computer or perform any unauthorized function and corrupt the data and delete the files. 
Its activities are: Deleting data, Blocking data, Modifying data, Copying data and 
disrupting the performance of computers or computer networking. 

mÙkj& ;g ,d fNih gqbZ nqHkkZouk iw.kZ gS tks DyksbV daI;wVj dh tkudkjh dks cny ldrk gS ;k 

gVk ldrk gS ;k fdlh vuf/kdr̀ QaD'ku dks fu"ikfnr dj ldrk gS vkSj MsVk dks u"V dj 

ldrk gS vkSj Qkbyksa dks gVk ldrk gSA bldh xfrfof/k;k¡ gSa% MsVk gVkuk] MsVk dks vo:) 

djuk] MsVk dks la'kksf/kr djuk] MsVk dh izfrfyfi cukuk vkSj daI;wVlZ ;k daI;wVj usVofdZax ds 

izn'kZu dks ckf/kr djukA 

 

(3) 
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Answer any 3 questions out of the given 5 questions of 5 marks each: 

fn, x, 5 iz'uksa esa ls fdlh Hkh 3 iz'u dk mÙkj nsaA izR;sd iz'u 5 vad dk gS A 

 

38.  Define Memorandum.  Explain its features. 

Kkiu dks ifjHkkf"kr djsaA bldh fo'ks"krk,¡ Li"V dhft,A 

 
Ans. 
 A memorandum is a message in writing sent by one person or department to 
another “within the same organization”. It is used in offices for routine matters like 
grants of annual increments, confirmation in service, making announcements, 
requests, policy statements, notices, reminders, suggestions, acknowledgements, 
salary and leave adjustments etc. 
Features: 

i. it is written in third person; 
ii. it is written in direct style; 
iii. it does not have either salutation or subscription; 
iv. the address of the addressee is written in the left hand button corner after the 

signature and 
v. it contains either the name or the designation of the officer signing the letter. 

mÙkj &,d Kkiu ,d O;fDr ;k foHkkx }kjk nwljs dks ^^,d gh laxBu ds Hkhrj** fyf[kr 

:i esa ,d lans'k nsuk gSA bldk mi;ksx dk;kZy;ksa esa okf"kZd osru o`f)] lsok esa iqf"V] 

?kks"k.kk,a] vuqjks/k] uhfr fooj.k] uksfVl] fjekbaMj] lq>ko] Lohd`fr] osru vkSj vodk'k 

lek;kstu vkfn tSls fu;fer ekeyksa ds fy, fd;k tkrk gSA 

fo'ks"krk,¡% 

1 ;g rhljs O;fDr esa fy[kk x;k gSA 

2 ;g izR;{k 'kSyh esa fy[kk x;k gSA 

3 blesa vfHkoknu ;k lnL;rk ugha gksrk gSA 

4 gLrk{kjdrkZ dk irk gLrk{kj ds ckn ck,a gkFk ds dksus esa fy[kk tkrk gSA 

5 blesa i= ij gLrk{kj djus okys vf/kdkjh dk uke ;k in uke 'kkfey gSA 

 
 

(5) 

39.  Explain the points to be kept in view at the time of typewriting a fair copy from 
manuscripts. 

ikaMqfyfi;ksa ls ,d fu"i{k dkWihjkbV djrs le; fdu ckrksa dks /;ku esa j[kuk pkfg,A   

Ans. 1. The document should be read once or twice. In case the document is 
lengthy, it should be read paragraph-wise. 
2. The word which is not clear should be encircled and proceed reading the matter. It 
may be possible that the same word is more clear in the following paragraph. 
3. In case, after reading the whole document, one is not able to understand any 
word, it should be read time and again in order to find out the correct word which 
conveys the correct sense of the sentence. 
 

4. The spelling of the words must be checked with the help of dictionary in the 
computer through Spelling Check and Grammar Check. 
5. No sentence should be typed by a mere guess work. 
 6. The operator should apply common sense while typewriting manuscripts and 
glaring errors should be avoided. 
7. Most common, used abbreviations should not be typed in full. “Dr.” should not be 
typed „Doctor‟, “Mr.” should not be typed as „Mister‟ and so on. 
8. The whole document should be compared with manuscript before giving the print 
command. 

 mÙkj &1 nLrkost dks ,d ckj i<+k tkuk pkfg,A ;fn nLrkost yack gS] rks bls 

iSjkxzkQ&okj  i<+k tkuk pkfg,A 

2 tks 'kCn Li"V ugha gS] ml ij xksy ?ksjk yxkuk pkfg, vkSj fo"k; lkexzh dks i<+uk 

pkfg,A ;g laHko gks ldrk gS fd fuEu vuqPNsn esa ,d gh 'kCn vf/kd Li"V u gksA 

(5) 
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3 iwjh fo"k; lkexzh i<+us ds ckn ;fn fdlh 'kCn dks le>us esa l{ke ugha gS mls lgh 

'kCn dk irk yxkus ds fy, fQj ls i<+uk pkfg, tks okD; ds lgh vFkZ dks crkrk gksA 

4 Lisfyax psd vkSj xzkej psd ds tfj, daI;wVj eas fMD'kujh dh enn ls 'kCnksa dh Lisfyax 

psd dh tkuh pkfg,A 

5 fdlh Hkh okD; dks ek= vuqeku yxkdj Vkbi ugha fd;k tkuk pkfg,A 

6 ikaMqfyfi;ksa dks Vkbi djrs le; vkWijsVj dks lkekU; Kku ykxw djuk pkfg, vkSj ped 

=qfV;ksa ls cpk tkuk pkfg,A 

7 lcls vkxs mi;ksx fd, x, laf{kIr uke iw.kZ Vkbi ugha fd, tkus pkfg,A ^^MkW** dks 

^MkWDVj ugha fy[kk tkuk pkfg,] ^^fe-** dks feLVj ds :i esa Vkbi ugha fd;k tkuk pkfg,A 

8 fizaV dekaM nsus ls igys iwjs nLrkost dh ikaMqfyfi ds lkFk rqyuk dh tkuh pkfg,A 
 

40.  Explain in detail the three types of cell-references in MS-Excel? 

MS-Excel esa rhu izdkj ds lsy&lanHkksZa ds ckjs esa foLrkj ls crk,a \  

Ans. Relative Referencing: calling cells by just their columns and row tables (such 
as A1) is called relative references. When a formula has relative references and it is 
copied from one cell to another, exact copy of the formula is not created, it will 
change cell addresses relative to the row and column to which they are moved to. 
Absolute Referencing: To prevent the cell addresses to change, a dollar sign “$” is 
placed before column and row location in the formula. The references become 
absolute and they will not change when copied. 
Mixed Referencing: is a combination of relative and absolute reference.   

 mÙkj & lkis{k lanHkZ dsoy vius LraHkksa vkSj iafDr rkfydkvksa ¼tSls , 1½ }kjk dksf'kdkvksa 

dks dkWy djuk lkis{k lanHkZ dgykrk gSA tc ,d lw= esa lkis{k lanHkZ gksrs gSa vkSj bls ,d 

lsy ls nwljs esa dkih fd;k tkrk gS] rks lw= dh lVhd izfrfyfi ugha cukbZ tkrh gS] ;g 

iafDr vkSj LraHk ds lkis{k lsy irs dks cny nsxk] ftl ij mUgsa LFkkukarfjr fd;k x;k gSA 

fujis{k lanHkZ % lsy irs dks cnyus ls jksdus ds fy,] lw= esa dkWye vkSj iafDr LFkku ls 

igys ,d MkWyj fpg~u ^^$** j[kk tkrk gSA lanHkZ fujis{k gks tkrs gSa vkSj dkWih fd, tkus 

ij os ugha cnysaxsA 

fefJr lanHkZ % lkis{k vkSj iw.kZ lanHkZ dk ,d la;kstu gSA 

 

(5) 

41.  How many operators are being used in MS-Excel? Explain with examples. 

MS-Excel ,Dlsy esa fdrus vkWijsVjksa dk mi;ksx fd;k tk jgk gS\ mnkgj.k lfgr Li"V 

dhft,A  

Ans. There are two kinds of operators in MS-Excel. 
(a) Mathematical operators. 
(b) Comparison or logical operators. 

 
(a) Mathematical Operators: - These operators are used to add, subtract, 

multiply and divide numbers. The following are the mathematical 
operators: 
 

Operator symbol Explanation  Example 

^ Exponential =4 ^ 2 

+ Addition  =4+2 

- Subtraction  =4 - 2 

* Multiplication =4*2 

/ Division =4/2 

   
(b) Comparison Operators: These operators are used to compare one 

value to the other. These operators are also called logical operators 
because their results answer in the cell is always true or false. 

(c) The following are the comparison operators: 
 

(5) 
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Operator symbol Explanation   Example 

= Equal to =C1=10 

> Greater than  =E5> 50 

>= Greater than or equal 
to 

=D5> = 20 

< Less than =E1< 20 

<= Less than or equal to =C5< = 10 

< > Not equal to =F1 < > 10 

   

   

mÙkj& MS-Excel esa nks izdkj ds vkWijsVj gksrs gSaA 

¼d½ xf.krh; vkWijsVjksaA 

¼[k½ rqyuk ;k rkfdZd lapkydA 

d xf.krh; vkWijsVj% bu vkWijsVjksa dk mi;ksx la[;kvksa dks tksM+us] ?kVkus] xq.kk djus 

vkSj foHkkftr djus ds fy, fd;k tkrk gSA xf.krh; vkWijsVj fuEufyf[kr gSa% 

vkWijsVj izrhd        O;k[;k   mnkgj.k 

^       ?kkrh;   =4^2 

+     tksM+uk   =4+2 

-     ?kVkuk   =4-2 

*     xq.ku   =4*2 

/     foHkktu   =4/2  

[k rqyuk vkWijsVj% bu vkWijsVjksa dk mi;ksx ,d ewY; ls nwljs ewY; dh rqyuk djus ds 

fy, fd;k tkrk bu vkWijsVjksa dks rkfdZd vkijsVj Hkh dgk tkrk gS D;ksafd lSy esa budk 

ifj.kke dk mÙkj ges'kk lgh ;k xyr ugha gksrk gSA 
 

 

 

x fuEufyf[kr rqyukRed vkijsVj gS%& 

 

vkWijsVj izrhd         O;k[;k   mnkgj.k 

=     ds cjkcj  =C1=10 

>     ls vf/kd  =E5>50 

>=     ds cjkcj ls vf/kd =D5>=20 

<     ls de   =E1<20 

<=     ls de ;k ls vf/kd =C5<=10 

<>     cjkcj ugha gSa  =F1<>10  

 
 

42.   Explain in detail the various „View Options‟ available in Power Point Presentation. 

ikoj IokbaV izstsaVs'ku esa miyC/k fofHkUu „O;wvkWI'ku’ ds ckjs esa foLrkj ls crkb, A 
 

Ans. The views in power point presentation are: 
 

 Normal View, Slide  Sorter View, Notes Page and Slide Show: 
 

Normal View: - It is the default view where one can write and design presentation. It 
has few working areas: Outline tab, Slides tab, Slide pane, Notes pane, In outline 
tab, it displays small images called thumbnails. Slides tab shows all the text on the 
slide, notes pane is used for entering notes about the current slide. 
Slide Sorter View: - It displays the thumbnails of all the slides in the presentation. It 
allows to sort, move, add, and delete slides easily. 
Notes Page: - It displays a page layout of the notes and the slide. It allows to 
rearrange the notes and compare them to the content of the slide. 
Slide Show View: - It displays the presentation from the beginning with animation. 

(5) 
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mÙkj & ikoj IokbaV izstsaVs'ku ds fopkj gS % lkekU; n`';] LykbMlkWVZ n`';] uksV~l n`';] 

vkSj LykbM'kks 
 

1- lkekU; ǹ'; % ;g fMQkYV O;w gksrk gS] tgka dksbZ izstsaVs'ku fy[k vkSj fMtkbu dj 

ldrk gS A blds dqN dk;Z{ks= gSa % vkmVykbuVSc] LykbMl VSc] LykbMisu] 

uksV~lQyd] vkmVykbu VSc A 

2- ;g Fkacusy uked NksVh Nfo;ksa dks iznf'kZr djrk gS A LykbM VSc LykbM ij lHkh ikB 

fn[kkrk gS A uksV Qyd dk mi;ksx orZeku LykbM ds ckjs esa uksVl ntZ djokus ds fy, 

fd;k tkrk gSA  

3- LykbM 'kkWVZ n`'; % ;g izLrqfr esa lHkh LykbM ds Fkacusy iznf'kZr djrk gS A ;g LykbM 

dks vklkuh ls 'kkWVZ djus] tksM+us] tksM+us vkSj gVkus dh vuqefr nsrk gSA 

4- uksV~l ǹ'; % ;g uksV~l vkSj LykbM dk ,d ist ysvkmV iznf'kZr djrk gSA ;g uksVksa 

dks fQj ls O;ofLFkr djus vkSj mUgsa LykbM dh lkexzh ls rqyuk djus dh vuqefr nsrk gSA  

5- LykbM 'kks n`”; % ;g ,uhes'ku ds lkFk 'kq:vkr ls izLrqfr dks iznf'kZr djrk gS A 

 
 

 


